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[nvestment is an economic term for the act of
inereasing the stock of money available for
business loans.

IfX and Y are complementary goods, the demand
curve for X will shift to the right wihen the price
of ¥ goes up.

If consumers reduce the purchase of goods whose
relative prices rise (substitote bias), the consumer
price index will tend to-have an downward bias
over time

Actions intended 10 make a firm’s product more

distinct from those of its rivals tend o make the
firm’s dentand curve more elastic.

An improvement in technalogy that increases the
marginal physical product will shift the factor
demanid curve to the right.
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Economic growth may be represented on a
production possibility frontier diagram by a (an):
leftward shift of the frontier.

outward expansion of the frontier,

movement zlong the frontier.

frontier that remain fixed.

none of the above.

The price of good X increascs relative to the price
of good Y when,

a. the price of Y rises from $3 to $4 while the price

of X vises from 510 to $£12.

b. the price of Y rises 15% while the price of X rises

15%.

c. the price of X stays the same while the price of Y

falls 5%,

d. both prices rise hy 5%,
e. none af the above,

Which of the following will cause a movement
along the supply curve?
. Increase or decrease in raw-material costs.

a
b. Increases in iabor costs
c. Changes in the cost of the machinery used 1o

make a good,

d. Changes in the market price of a good, other

things being equal.

e. All of the above.

An increase in steed prices raises the cost of
manufacturing razor blades without any changes
11 their quality.  As part of the iransition to a new
equil (briwm in the razor blade market, we would
expect to find 2 (an):

a. surplus of razor blades,

b. increase in the demnand for razor hiades.

. leftwsrd shift in the demand curve for razar
blades.

d. vpward shift in the supply curve for razor blades.

€. none of the above,

3. Which ofthe fotlowing is lzast likely to resuli
from rent controls that establish a below-
equilibrium price for rental housing?

a. Shoriages and black markets will develop.

b. The quality of existing housing will deteriorate.

¢. The future supply of rental housing will increase
becatse the controls bring about excess demand.

d. Peopie will change apariments less often,

e, All of the above.
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1. A consumer's musumpticm-utilit}' function for a
hﬁ-‘ﬂ—pﬂl’iﬁd horizon is I7 = C,C,™; his income
stream is ¥;= 1000 and ¥, = 648&; and the market
rale of interest is 8%. Dretermine vahies for O
.and C; that maximize his utihty. Ishea
horrower or lender?

2. Assume that the cost functions of the two firms
producing the same cornmodily are
Cr=2g7+20q,-2q,q;
= 3(}3? + Gi! L
a. Determine the output levels of the firms on the
assumption that each equates its private
marginal cost to a fixed market price of 240.
. Determine their output levels on the
assumption that each equates ifs soclal
marginal cost to the market price.
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